FITTINGS - ONE-PIECE
[BRAIDED HOSE, NO-SKIVE]



Section G, Page:

0370 N051 0850
NPTF Male 60° Seat NPTF Male Swivel NPSM Female JIC Male 37°

Section G, Page:

0911 0900 1001 1000 0951 0950 2971 2970
Female 37° Female 37° TW 45° Swept 45° Swept 90° Swept 90° Swept 90° Compact Swept ~ 90° Compact
Back Hex R Elbow R Elbow TW Elbow R Elbow TW Elbow R Elbow TW
DKJ DKJ DKJ-45° DKJ-45° DKJ-90° DKJ-90° DKJ90°-K DKJ90°-K
Section G, Page: 13 14 15
E % i /
4 f =
S350 S05T $250 $150
ORFS Male Female Back Hexagon 45° Swept Elbow 90° Swept Elbow
ORFS ORFS ORFS-45° ORFS-90°

Section G, Page: 16 16

SAE Boss
0385 0390
SAE Male OR Swivel Male 90° Swivel Male
SAE-OR Boss Boss-90°

Section G, Page:

Inverted i y
Flare & i T '

IF45

IF90

IF00 0930 0980
Inverted Inverted Inverted JIs NIS
Flare Flare 45° Flare 90° Toyota Toyota 90°
SIF SIF-45° SIF-90° JIS-T JIS-T-90°

Section G, Page: 21
= -
—_ Wy
\E i
0940 1250 1150 1050
JIS Komatsu  JIS Komatsu 45° JIS Komatsu 90° Komatsu Komatsu 45° Komatsu 90°
JIS-K JIS-K-45° JIS-K-90° JIS-KF JIS-KF-45° JIS-KF-90°

G-1



th INTERPUMP

Hydraulic Connectors

Section G, Page: 24

0360 0350
Kobelco Metric Male BSPT Male 60° Seat BSP Male 60° Seat
KoB AGR-K AGR

Section G, Page:

| — 1
0051 0050 0052 0251 0252 0151 0152
BSP BSP BSP 45° Swept 45° Swept 90° Swept 90° Swept 90° Swept
Female 60° R Female 60° TW  Female 60° S Elbow R Elbow S Elbow R Elbow TW Elbow S
DKR DKR DKR DKR-45° DKR-45° DKR-90° DKR-90° DKR-90°
Section G, Page: 32 34 34 35 35
— 1
.:E
= =
=l ul = - , l—'f
0041 0242 0141 0142 2321 2320
BSP BSP 45° Swept 45° Swept 90° Swept 90° Swept 90° Compact 90° K Compact
Female 60° R Female 60° S Elbow R Elbow S Elbow R Elbow S Elbow R Elbow TW
DKR-OR DKR-OR° DKR-45°-OR  DKR-45°-OR° DKR-90°-OR DKR-90°-OR* DKR-90°-K DKR-90°-K°

Section G, Page:

[3AINS-ON '3SOH a3divdd] 3231d-INO - SONILLIE

= ]
0345 0060 1400 1600-00 1600
EETS"’;‘? B;Zfseé“af'e BSP Banjo BSP Perforated BSP Perforated
AGR-F DKJ RNR Bolt Bolt (Double)
Section G, Page: 38 39 40 4

0750 0650
Swivel Female Metric Standpipe Metric Standpipe 45° Metric Standpipe 90°
Karcher BES-BEL BES-BEL-45° BES-BEL-90°
Section G, Page: 42 42 43 43 43
—l!. % oS
AN [
=R B
= H;
=
=
1350 1650 0430 0030
Metric Banjo Metric Perforated French Male Gaz ~ French Female Gaz 90° Swept Elbow Gaz

RNM Bolt AGF DKF DKF-90°




Section G, Page:

Section G, Page:

Section G, Page:

Section G, Page:

Section G, Page:

Section G, Page:

0100 0200
Female 60° Metric 90° Swept Elbow

DKM DKM-90°

Metric Male 24°
CES
54

1260
Code 61 Solid
SFL
57 58
= ]
|f/';{ ;
‘ F -

1310 1110
Code 62 Solid Code 62 Solid 90°
SFS SFS

61
=
il
=
= L
=k

D050

Hose Junction

e |
0035 0235 0135
Female 24° Metric 45° Swept Elbow 90° Swept Elbow
DKL DKL-45° DKL-90°
47 48 49

0285 0185
45° Swept Elbow 90° Swept Elbow
0O-Ring O-Ring
DKOL-45° DKOL-90°
53
0084 0284 0184

Female 24° OR 45° Swept Elbow OR 90° Swept Elbow OR

DKOS DKOS-45° DKOS-90°
55 55 56
1160 1060 1060
Code 61 Solid

Code 61 Solid 45° Code 61 Solid 90°
SFL-45° SFL-90° SFL-22.5°/30°/60°/67.5°/110°/135°

1210 1108
Code 62 Solid 45° SuperCAT Solid 90°
SFS-45° SFC-90°
61

=

GS00
Weldable Fitting

G-3



HOSE AND CONNECTORS CATALOG

th INTERPUMP

Hydraulic Connectors

“G” Series Precrimped Model

Example Code:

0050G12-12 %" BSP Swivel Female * Hose %" -
Standard Tail with “G” Pre-Crimp ferrule.

Technical Data:

““—-_ S

29.0 23.0 1SN - 2SN - 1SC - 2SC

5/s 29.0 24.0 1SN - 2SN - 1SC - 2SC

10 b 32.0 27.0 1SN - 2SN - 1SC - 2SC
12 Yo 32.5 31.0 1SN - 2SN - 1SC - 2SC
16 % 34.0 34.0 1SN - 2SN - 1SC - 2SC
20 Ya 39.5 38.0 1SN - 2SN - 1SC - 2SC
25 1 47.0 47.0 1SN - 2SN - 1SC - 2SC
32 1% 55.0 57.9 1SN - 2SN - 1SC - 2SC

':Qf p _f../. . )
G

Interpump Hydraulic Connectors reserves the right
to not guarantee any product functionality not specified on this page.

“
—]
=
<
Q)
(7 )
1
o)
<
m
=
m
0
m
w
A
>
o
m
O
T
O
wn
m
z
O
%)
A
<
i,



FITTINGS - ONE-PIECE [BRAIDED HOSE, NO-SKIVE]

0370 NPTF Male 60° Cone
(AGN)

Dimension
SRS m- i

[ in [ mm | size [ T [ mm] in [ mm]
—--——----

0370G04-02 Y %- 12 % 22 0866
_--__----
0370G04-06 Y 04 %- 19 % 28 1102

0370G16-20 1 254 16 1%-1% 46 1% 46 1.811
_--__----
0370G24-24 1%  38.1 24 1%-1% 50 49 1.929

037G NPTF Male Parallel 60° Cone - Swivel
(AGN-RO)

|| | _._ﬁll--lf
_ | ]

Dimension
2 U | oan | wess e GO

[ in | mm | size | T | [ in_| mm | in
~ 037GG04-04 % 64 04 %-18 19 % 39 1535

037GG06-04 Y 9.5 Ya-18 22 Y 1.772

06 45
_--__----

037GG08-08 Ya 12.7 Y2 - 14 27 1Yis 49  1.929

G-5



HOSE AND CONNECTORS CATALOG i'h INTERPUMP
Hydraulic Connectors

N0O51 NPSM Female 60° Cone Rolled Nut
(DKN)

Part Number

N051G04-04 Ya Ya-18 19 Y 17 0.669
N051G06-06 % 06 %-18 22 % 19 0.748
N051G08-08 Y 12.7 08 Y- 14 27 146 23  0.906

[3AIS-ON '3SOH a3AIvyd] 3231d-aNO - SONILLIL



FITTINGS - ONE-PIECE [BRAIDED HOSE, NO-SKIVE]

0850 JIC Male 37° Cone
(AGJ)

OO s

Part Number

0850G04-05 Va 04 Ya- 14 Y6 27 1.063

0850G05-05 Y46 7.9 05 Ya- 14 Y6 27 1.063

0850G05-08 Y46 7.9 05 Y- 16 19 Ya 30 1.181

0850G32-32 2 50.8 32 2Y%-12 65 2% 62 2441

*Note: -07 Thread Fitting is SAE 45° Flare

G-7



th INTERPUMP

Hydraulic Connectors

0911 JIC Female 37° Cone - Back Hex - Rolled Nut
(DKJ) : ' ] i

“
—]
=
<
Q)
(7 )
1
o)
<
m
=
m
0
m
w
A
>
o
T
O
T
O
wn
m
z
O
%)
A
<
i,

[ Hex | cutOoff |
0911G04-04 Ya 6.4 04 6 - 20 15 %% 12 Yo 20 0.787 8.5 0.335
0911G04-05 Ya 6.4 04 Y% -20 17 Wie 14 Y6 20 0.787 9.5 0.374
0911G04-06 Ya 6.4 04 Y6 -18 19 %% 14 Y6 22 0.866 9.0 0.354
0911G05-06 %6 7.9 05 %6 -18 19 % 15 s 22 0.866 9.0 0.354
0911G06-06 % 9.5 06 %6 -18 19 % 17 e 24 0.945 9.0 0.354
0911G06-08 ¥ 9.5 06 Y% -16 24 % 19 Y 26 1.024 10.5 0.413
0911G08-08 A 12.7 08 % -16 24 342 22 VA 26 1.024 10.5 0413
0911G08-10 VA 12.7 08 Y% -14 27 1V4e 22 VA 27 1.063 13.0 0.512
0911G10-10 s 15.9 10 Y -14 27 146 22 VA 26 1.024 13.0 0.512
0911G10-12 % 15.9 10 16 - 12 32 1V 27 1%46 27 1.063 13,5 0.531
0911G12-12 % 19 12 16 - 12 32 1Y 27 1%4s 32 1.260 13.5 0.531
0911G16-16 1 25.4 16 1%6 - 12 38 1% 36 1%6 33 1.299 15,5 0.610
o H E
0900 JIC Female 37° Cone - Thrust Wire Nut
(DKJ) h
1 -

[ Hex | cutor |
FAIEREHRSE mm Thread [ gt
mmm—mmmmmm

"SAE 45° 0900G06-07 Y% 9.5 06 % -18 22 7 16 0.629 11 0433
0900G16-12 1 254 16 16 - 12 32 1Y 23 0905 135 0.531
0900G20-20 1% 318 20 1% -12 50 2 28 1102 16.5 0.649
0900G24-24 1% 38.1 24 1% -12 55 2% 31 1220 19 0.748
0900G32-32 2 50.8 32 2% -12 70 2% Sl 1220 20 0.787

*Note: -07 Thread Fitting is SAE 45° Flare




G-9

FITTINGS - ONE-PIECE [BRAIDED HOSE, NO-SKIVE]

1001
(DKJ-45°)

JIC 45° Swept Elbow 37° Cone - Rolled Nut C

*SAE 45°

welded

1001G04-05 Va 6.4 04 Y2-20 17 Ve 14 0.551 40 1.575

1001G06-05 % %- 20 17 % 16 0630 49 1929
--——------

1001G06-07 % % - 17 0669 51 2008
--——------

1001G06-10 Y Y- 14 27 1Yis 21 0.827 54 2.126
--——------

1001G08-10 % 127 %- 14 27 1% 23 0906 64 2520
--——------

100161010 %  15.9 10 %- 14 27 1% 24 0945 68 2677
C % 159 10 -2 32 1% 25 0984 70 2756

100161210 % 19 12 %- 14 27 1% 27 1063 83  3.268
001612412 % 19 12 e-12 32 1% 28 1102 84 3307

1001G12-14 Ya 19 12 1%6- 12 36 1% 29 1.142 84 3.307
—--——------

1001G16-12 1 254 16 16 - 12 1% 32 1.260 103 4.055

—--——------
*Note: -07 Thread Fitting is SAE 45° Flare

1000 JIC 45° Swept Elbow 37° Cone - Thrust Wire Nut

(DKJ-45°)

[ in [ mm | size [ T [mm] in [ mm ] in | mm [ in_|]
100061620 1 254 16 1%-12 50 2 31 12200 68 2677

100062020 1% 318 20 1%-12 50 2 40 1574 108  4.251
_--__------
100062424 1% 381 24 1%- 55 2% 49 1920 119 4685




0951
(DKJ-90°)

0950 JIC 90° Swept Elbow 37° Cone - Thrust Wire Nut

(DKJ-90°)

JIiC

*SAE 45°

welded

*SAE 45°

th INTERPUMP

Hydraulic Connectors

. <
90° Swept Elbow 37° Cone - Rolled Nut

L

L

¥

T
. Dimemsion 0|
| in | mm | size | T | mm | in | mm | in | mm | in |

0951G03-04 Yie 4.8 03 Y6 - 20 15 % 22 0.866 22 0.866
0951G04-04 Ya 6.4 04 Y6 - 20 15 % 24 0.945 25 0.984
0951G04-05 Ya 6.4 04 Y - 20 17 e 25 0.984 25 0.984
0951G04-06 Ya 6.4 04 Y6 -18 19 Ya 27 1.063 25 0.984
0951G05-05 Y6 7.9 05 Y - 20 17 e 30 1.181 29 1.142
0951G05-06 Y16 7.9 05 Y16 -18 19 Ya 31 1.220 29 1.142
0951G06-05 % 9.5 06 Y - 20 17 e 30 1.181 33 1.299
0951G06-06 % 9.5 06 Y6 - 18 19 Ya 32 1.260 31 1.220
0951G06-07 % 9.5 06 %-18 22 Y% 32 1.260 33 1.299
0951G06-08 % 9.5 06 Y- 16 24 Y52 34 1.339 33 1.299
0951G06-10 % 9.5 06 % -14 27 1% 36 1.417 33 1.299
0951G08-08 VA 12.7 08 Y -16 24 R 41 1.614 41 1.614
0951G08-10 VA 12.7 08 % -14 27 1% 40 1.575 41 1.614
0951G08-12 VA 12.7 08 1%6- 12 32 1% 43 1.693 39 1.535
0951G10-10 % 15.9 10 % -14 27 1% 44 1.732 43 1.693
0951G10-12 % 15.9 10 1%6 - 12 32 1% 47 1.850 45 1.722
0951G12-10 Ya 19 12 % -14 27 1% 53 2.087 56 2.205
0951G12-12 Ya 19 12 1%6 - 12 32 1% 54 2.126 56 2.205
0951G12-14 Ya 19 12 1%6-12 36 1% 53 2.087 57 2.244
0951G12-16 Ya 19 12 1%6-12 38 1% 56 2.205 55 2.165
0951G16-12 1 254 16 1Vi6 - 12 32 1% 63 2.480 70 2.756
0951G16-16 1 254 16 1%6-12 38 1% 65 2.559 70 2.756

*Note: -07 Thread Fitting is SAE 45° Flare

‘Fh
| )

Part Number

0950G06-07 % 9.5 06 %-18 22 % 32 1.259 33 1.299
0950G16-20 1 254 16 1% - 12 50 2 69 2.716 62 2.440
0950G20-20 1% 31.8 20 1% -12 50 2 83 3.267 87 3.425
0950G20-24 1% 31.8 20 1% -12 55 2% 88 3.464 81 3.188
0950G24-24 1% 38.1 24 1% -12 55) 2% 97 3.818 102 4.015
0950G32-32 2 50.8 32 2%2-12 70 2% 134 5.275 121 4.763

*Note: -07 Thread Fitting is SAE 45° Flare

“
—]
=
<
Q)
(7 )
1
o)
<
m
=
m
0
m
w
A
>
o
T
O
T
O
wn
m
z
O
%)
A
<
i,




FITTINGS - ONE-PIECE [BRAIDED HOSE, NO-SKIVE]

2971 JIC 90° Compact Elbow 37° Cone - Rolled Nut
(DKJ-90°-K)
|
[ in | mm | size | T | mm | in | mm | in | mm | m
—--——--——----
2971G04-05 Ya 6.4 Ve - 17 e 15 % 0.709 19 0.748
—--——--——----
2971G05-06 e 7.9 Y16 - 18 e 20 0.787 20 0.787
_--__--------
2971G06-08 % Ya-16 Nz Y 0.866 24 0.945
--——---_ ---
2971G08-10 Ve 12.7 Y% -14 27 1V4e Ys 0.945 26 1.024
--——---_ ---
2971G16-16 1 254 16 1%6 - 12 38 1% 32 1% 34 1.339 38 1.496
2970 JIC 90° Compact Elbow 37° Cone - Thrust Wire Nut c
(DKJ-90°-K) £

1

T

Part Number m__ Cut-Off

| et | ez | ¢ [ A |
[ in [ mm [ size [ T [ mm[] in [ mm [ in [mm] in | mm [ in |
—--——--——----

2970G04-06 Ya 6.4 %16 - 18 19 Ya % 19  0.748 19  0.748

2970G06-08 Y Y - 24 Bz 22 e 0.866 24 0944

2970G08-10 V2 12.7 Ve - 27 14e 22 7 0.944 26  1.023

G-11



S350
(ORFS)

ORFS Male

- Fitting ships with cap and O-Ring

$350G04-06
$350G04-09
$350G05-09
$350G06-09
$350G06-11
$350G08-11
$350G08-13
$350G08-14
$350G10-13
S$350G10-14
$350G12-14
S$350G12-15
$350G16-15
S$350G16-21
$350G20-21

1%

15.9

254
254
31.8

Y6 -18
e - 16
Vi - 16
e - 16
%6 - 16
%6 - 16
1-14
1%6-12
1-14
1%6-12
1%6-12
1%6-12
17%6-12
146 - 12
146 - 12

146
1Y
146
1Y
1Y
1%
1%
1%s
1%

th INTERPUMP

Hydraulic Connectors

“
—]
=
<
Q)
(7 )
1
o)
<
m
=
m
0
m
w
A
>
o
T
O
T
O
wn
m
z
O
%)
A
<
i,




FITTINGS - ONE-PIECE [BRAIDED HOSE, NO-SKIVE]

S05T ORFS Female Back Hexagon

(ORFS)

S05TG20-21 1% 318 20 16 - 12 50 2 46 1% 53  2.086

G-13



th INTERPUMP

Hydraulic Connectors

“

S250 ORFS 45° Swept Elbow :l

(ORFS-45°) ' :I

= 2

‘ Q)

(7]
1

(o)

P

. Dpimemsion m

[ in | mm | size | T | mm | in [ mm | in | mm | in | rT-l

$250G04-06 Ya 6.4 04 Y6 -18 19 %% 14 0.551 40 1.575 n
S$250G04-09 Ya 6.4 04 W6 - 16 22 A 14 0.551 38 1.496 m

$250G05-09 %6 7.9 05 Y6 - 16 22 s 14 0.551 44 1.732

S$250G06-09 A 9.5 06 W6 - 16 22 A 17 0.669 52 2.047 E‘
$250G06-11 s 9.5 06 %6 - 16 24 3142 18 0.709 51 2.008 2V
S$250G08-09 Yo 12.7 08 Y6 - 16 22 s 21 0.826 45 1.771 J_>
$250G08-11 A 12.7 08 %6 - 16 24 3142 20 0.787 62 2.441 U
S$250G08-13 Yo 12.7 08 1-14 30 1%e 23 0.906 64 2.520 (L
S$250G08-14 A 12.7 08 1%6 - 12 36 1%s 2% 0.906 62 2.441 O
S$250G10-13 %% 15.9 10 1-14 30 1%e 22 0.866 67 2.638 T

welded S$250G10-14 s 15.9 10 1%6 - 12 36 1%s 18 0.709 44 1.732 O
welded S$250G12-13 %% 19 12 1-14 30 1% 15 0.591 40 1.575 w
S$250G12-14 % 19 12 1%6 - 12 36 1%s 2% 0.906 84 3.307 ‘I_l'l
S$250G12-15 %% 19 12 1%6 - 12 41 1% 26 1.024 84 3.307 =

S$250G16-15 1 25.4 16 1%6 - 12 41 1% 31 1.220 100 3.937

S$250G16-21 1 25.4 16 1V - 12 50 2 24 0.944 60 2.362 IO
$250G20-21 1Y 31.8 20 16 - 12 50 2 44 0.944 125 4.921 (Vp)
S$250G24-32 1% 38.1 24 2-12 60 2% 29 1.141 78 3.070 E

&




FITTINGS - ONE-PIECE [BRAIDED HOSE, NO-SKIVE]

S150 ORFS 90° Swept Elbow

(ORFS-90°)

G-15

welded

welded

SR RERIEE mm--:—

$150G04-09 Ya 6.4 04 Wie - 16 22 3 23 0.906 25 0.984

$150G08-09 %o 127 08 We-16 22 % 37 1456 31 1220
% 127 08 %h-16 24 %k 36 1417 39 1535

$150G08-13 % 127 08 1-14 30 1% 40 1575 39 1535
% 127 08 1%-12 36 1% 39 1535 42 1654

$150G10-13 % 159 10 1-14 30 1% 39 1535 47  1.850
 S150G10-14 % 159 10 1%-12 36 1% 39 1535 42 1654

$150G12-13 % 19 12 1-14 30 1% 39 1535 42 1654
%19 12 h-12 36 1% 49 1920 57 2244

$150G12-15 % 19 12 1%-12 41 1% 51 2008 56 2205
--——------

$150G16-21 1 254 16 116 - 12 2283 62 2441
--——------

$150G24-32 1% 381 24 2-12 60 2% 73 2874 80  3.149



0385 SAE Male O-Ring Flat Seat

(SAE-OR)

0390 Male O-Ring Swivel

(BOSS)

0395 90° Male O-Ring Swivel

(BOSS-90°)

th INTERPUMP

Hydraulic Connectors

Part Number

0385G04-04 Ya 6.4 04 %6 - 20

0385G04-06 % 6.4 04 Y6 - 18

0385G05-06 Y 7.9 05 Y6 - 18

0385G06-06 % 9.5 06 Y6 - 18

0385G06-08 % 9.5 06 % -16

0385G08-08 VA 12.7 08 % -16

0385G08-10 Y2 12.7 08 % - 14

0385G08-12 Y 12.7 08 1% -12
0385G10-10 % 15.9 10 % -14

0385G10-12 % 15.9 10 1V - 12
0385G12-12 % 19 12 1%6 - 12
0385G12-16 Y% 19 12 1%46 - 12
0385G16-16 1 254 16 1%s6 - 12

| Dimension 00 |

| in | mm | size | T | mm] in | mm]| in_ |

0390G08-10 V2 12.7 08 7e-14 27 1%4e 39 | 1.535
0390G10-10 % 15.9 10 Y- 14 27 1Y4e 391585
0390G12-12 Ya i) 12 1V - 12 32 1% 43  1.693

Part Number

0395G08-08 Y 12.7 08 % -16 24 Vs 27 146 42
0395G08-10 A 12.7 08 % - 14 27 1V 27 1V4e 42
0395G10-10 % 15.9 10 % - 14 27 1Y 27 146 42

0395G12-12 Ya 19 12 16 - 12 32 1% 32 1% 48

“
—]
=
<
Q)
(7 )
1
o)
<
m
=
m
0
m
w
A
>
o
T
O
T
O
wn
m
z
O
%)
A
<
i,




FITTINGS - ONE-PIECE [BRAIDED HOSE, NO-SKIVE]

IFOO0 Straight Male Inverted Flare Swivel
(SIF) E

'&//
(g 45°

IF00G04-05 % 64 04 %-20 14 % 55 2165
_--__----
IFO0G05-05 %5 79 Y- 14 % 56 2205
_--__----
IFO0G06-04 % Vo - 12 % 56 2205
_--__----
IF00G06-07 % 06 %- 17 e 57 2244
_--__----
IFO0G08-08 % 127 08 %-18 19 % 60 2362

G-17



HOSE AND CONNECTORS CATALOG l‘h INTE RPUMP

Hydraulic Connectors

IF45 45° Male Inverted Flare Swivel
(SIF-45°)

Part Number

IF45G06-04 % 9.5 06 Y6 - 24 12 Y 25 0.984 48 1.890
IF45G06-05 % 9.5 06 Y - 20 14 Y6 25 0.984 48 1.890
IF45G06-07 % 9.5 06 %-18 17 Uz 30 1.181 54 2.126
IF45G06-09 % 9.5 06 e - 18 19 % 30 1.181 54 2.126

IF90 90° Male Inverted Flare Swivel
(SIF-90°)

0

[3AIS-ON '3SOH a3AIvyd] 3231d-aNO - SONILLIL

) L

45:<J T

S S

| 0 Dimemsion 00000000000 |
| Hex | Drop | CutOff |
SRS mm--_

IF90G04-04 Va 04 'Vs 12 Y2 36 1.417 29 1.142
IF90G04-05 Va 6.4 04 Vs 20 14 Y46 34 1.339 30 1.181
IF90G05-04 Y6 7.9 05 Y6 - 24 12 V2 38 1.496 24 0.945
IF90G05-05 Y46 7.9 05 Y2-20 14 Y46 35 1.378 30 1.181
IF90G05-07 Y6 9 05 %% -18 17 e 43 1.693 30 1.181
IF90G06-04 b3 9.5 06 Y6 - 24 12 V2 35 1.378 30 1.181
IF90G06-05 Y% 9.5 06 Y2-20 14 Y46 85 1.378 30 1.181
IF90G06-07 b3 9.5 06 - 18 17 Ve 44 1.732 31 1.220
IF90G06-09 Y% 9.5 06 e - 18 19 Ya 42 1.654 31 1.220

IF90G08-08 V2 12.7 08 Ya-14 19 Ya 45 1.772 35 1.378



FITTINGS - ONE-PIECE [BRAIDED HOSE, NO-SKIVE]

0920 JIS Nissan Female 60° Cone
(JIS-N)

[ Hex T cutof
Part N
S mm Treed T E T B ¢

| in [ mm | size | T [mm] in [ mm [ in [mm] in_|
092060404 % 64 04 %-19 19 %19 % 23 0905

0920G06-06 % 95 06 %-19 2 % 22 % 28 1102
- 0920G08-08 % 127 08 %-14 27 Ve 27 Ve 27 1.062
0920G12-12 % 19 12 Y%- 14 2 1% 32 1% 29 1441

G-19



HOSE AND CONNECTORS CATALOG l‘h INTE RPUMP

Hydraulic Connectors

0930 JIS Toyota Female 60° Cone

(JIS-T)

Part Number

0930G04-04 Ya 6.4 04 Ya-19 19 Ya 17 0.669 20 0.787
0930G06-06 % 9.5 06 %-19 22 % 19 0.748 22 0.866
0930G08-08 Y 12.7 08 Y- 14 27 1% 22 0.866 26 1.024
0930G12-12 Ya 19 12 Ya-14 32 1% 30 1.181 29 1.142
0930G16-16 1 254 16 1-11 38 1%6 36 1.417 31 1.220

0980 90° JIS Toyota Swept Elbow - Welded
(JIS-T-90°)

Part Number

0980G04-04 Ya 6.4 04 Ya-19 19 Y 85 1.378 38 1.496
0980G06-06 % 9.5 06 %-19 22 % 30 1.181 27 1.063
0980G08-08 Y 12.7 08 Y- 14 27 146 39 1.535 B8 1.299
0980G12-12 Ya 19 12 Ya-14 32 1% 55 2.165 48 1.890

0980G16-16 1 254 16 1-1 38 1% 62 2.441 57 2.244

[3AIS-ON '3SOH a3AIvyd] 3231d-aNO - SONILLIL



FITTINGS - ONE-PIECE [BRAIDED HOSE, NO-SKIVE]

0940 JIS Komatsu Female 60° Cone

(JIS-K)

0940G04-18 % 64 04 MIBX15 24 % 19 % 21 0826
- 0940G05-16 % 79 05  MI6X15 22 % 17 e 22 0866
0940G06-14 % 95 06 MI4X15 19 % 17 e 22 0.866
~ 0940G06-18 % 95 06 MIBX15 24 %k 19 % 21 0827
0940G08-22 % 127 08 M22X15 27 1% 22 % 27  1.063
~ 0940G10-24 % 159 10 M24X15 30 1% 27 1% 26 1.024
0940G12-30 % 19 12 M30X15 36 1% 30 1% 30 1.181
~ 0940G16-33 1 254 16 M33X15 41 1% 36 1% 33 1299
0940G24-42 1%  38.1 24 M42X15 50 2 50 2 38 149%

1040  45° JIS Komatsu Swept Elbow - Welded

(JIS-K-45°)

—Hex | brop | cutor |
S Thread | ¢ —
mmm—m“ “m“

" tosGoets % 64 04 X150 % 18 o709 44 1732

104060516 % 7.9 05 MI6X15 22 % 18 0709 38 1496
_--__------
1040G06-18 % MI8X15 24 % 18 0709 43 1693
_--__------
104061024 % 159 10 M24X15 30 1% 23 0906 50 1969
. 1040G1230 % 19 12 M30X15 36 1% 26 1024 56 2205
1040G16-33 1 254 16 M33X15 41 1% 33 1299 65 2559

G-21



HOSE AND CONNECTORS CATALOG l‘h INTERPUMP

Hydraulic Connectors

0990 90° JIS Komatsu Swept Elbow - Welded
(JIS-K-90°)

[ Hex [ Drop | cutorr |
SRR M“———:——

[ in_ | mm | size | T _[mm /[ in [ mm ]| in | mm [ in_|

0990G04-14 Va 6.4 04 M14 X 1.5 19 Ya 35 1.378 38 1.496
0990G05-16 Y46 7.9 05 M16 X 1.5 22 s 30 1.181 27 1.063
0990G06-14 b3 9.5 06 M14 X 1.5 19 Ya 33 1.299 31 1.220
0990G06-18 Y 9.5 06 M18 X 1.5 24 Va2 88 1.299 31 1.220
0990G08-22 V2 12.7 08 M22 X 1.5 27 1% 39 1.535 33 1.299
0990G10-24 %8 15.9 10 M24 X 1.5 30 1% 48 1.890 42 1.654
0990G12-30 Ya 19 12 M30 X 1.5 36 1% 43 1.693 48 1.890
0990G16-33 1 254 16 M33 X 1.5 41 1% 62 2.441 57 2.244

[3AIS-ON '3SOH a3AIvyd] 3231d-aNO - SONILLIL



FITTINGS - ONE-PIECE [BRAIDED HOSE, NO-SKIVE]

1250  Straight Komatsu Flange
(JIS-KF)

Dimension
Part Number Hose I.D. e Cut(;Off
mmm-mmm

1150 45° Komatsu Flange

(JIS-KF-45°)

size mm

welded —--_---_--

1050 90° Komatsu Flange
(JIS-KF-90°)

[ _in_|

[ mm | size [ T |
welded 105061010 % 159 10 % 34 47 1850 48 1899

G-23



HOSE AND CONNECTORS CATALOG l‘h INTERPUMP

Hydraulic Connectors

KO5B Kobelco Male

Kobelco Male

_m
Tube -_

KO5BG10-30 V43 15.9 10 M30 X 1.5 22 I 32 1.260
KO5BG12-30 Ya 19 12 M30 X 1.5 22 32 1% 35 1.378
KO5BG12-36 Ya 19 12 M36 X 1.5 28 41 1% 36 1417
KO5BG16-36 1 254 16 M36 X 1.5 28 41 1% 37 1457
KO5BG16-45 1 254 16 M45 X 1.5 35 50 2 38  1.496

[3AIS-ON '3SOH a3AIvyd] 3231d-aNO - SONILLIL



FITTINGS - ONE-PIECE [BRAIDED HOSE, NO-SKIVE]

0360 BSP Taper Male 60° Cone
(AGR-K)

Dimension
Part Number Thread C”tc':Off
mmm—m“m
—--——----
0360G04-04 Ya 6.4 04 Ya - 15 % 28 1.102
—--——----
0360G05-04 Y6 7.9 Ya - % 1.102

0360G06-04 b3 Va- 17 Wie 28  1.102

0360G06-08 Y% 06 Ve - 7 1.299

0360G08-08 V2 12.7 Ve - 7 34 1.339

0360G10-08 %8 15.9 10 Vas 7 1.339

0360G10-12 % 15.9 Ya- 27 1% 36 1.417

0360G12-16 Ya 12 1-11 1% 43 1.693

0360G16-20 1 25.4 16 1% -1 46 1%e 46 1.811

G-25



th INTERPUMP

Hydraulic Connectors

0350 BSP Male Parallel 60° Cone
(AGR)

“
—]
=
<
Q)
(7 )
1
o)
<
m
=
m
0
m
w
A
>
o
T
O
T
O
wn
m
z
O
%)
A
<
i,

Part Number

0350G04-02 Ya 6.4 04 Vs - 28 14 Y6 21 0.827
0350G04-04 Ya 6.4 04 Ya-19 19 % 27  1.063
0350G04-06 Ya 6.4 04 %-19 22 Y% 28 1.102
0350G04-08 Ya 6.4 04 Y- 14 27 146 35 1.378
0350G05-04 Y 7.9 05 Ya-19 19 Y 27  1.063
0350G05-06 Y6 7.9 05 %-19 22 A 28  1.102
0350G05-08 Y6 7.9 05 Y% - 14 27 146 32  1.260
0350G06-04 % 9.5 06 Ya-19 19 Y 27  1.063
0350G06-06 % 9.5 06 %-19 22 VA 29 1142
0350G06-08 % 9.5 06 Y- 14 27 146 32  1.260
0350G08-06 Y 12.7 08 %-19 22 %% 29 1142
0350G08-08 Y 12.7 08 Y- 14 27 1% 33 1.299
0350G08-10 VA 12.7 08 % - 14 30 1% 34 1.339
0350G08-12 Y 12.7 08 Y- 14 32 1% 35 1.378
0350G10-08 % 15.9 10 Y- 14 27 1% 33 1.299
0350G10-10 % 15.9 10 %-14 30 1% 35 1.378
0350G10-12 % 15.9 10 Y- 14 32 1% 35 1.378
0350G12-12 Ya 19 12 Ya-14 32 1% 36 1.417
0350G12-16 Y 19 12 1-1 41 1% 39 1535
0350G16-12 1 254 16 Ya-14 32 1% 37 1.456
0350G16-16 1 254 16 1-11 41 1% 40 1.575
0350G16-20 1 254 16 1% -11 50 2.00 44  1.732
0350G24-24 1% 38.1 24 1% -1 65 2% 46  1.811

0350G32-32 2 50.8 32 2-1 70 2% 54 2125




FITTINGS - ONE-PIECE [BRAIDED HOSE, NO-SKIVE]

0051 BSP Female 60° Cone - Rolled Nut
(DKR)

Part Number

0051G04-08 Va 6.4 04 Y2-14 27 20 22 0.866

0051G05-06 Y46 7.9 05 Y - 7 0.748

0051G06-04 b3 06 Va-19 Ya 0.669

0051G06-08 b3 Y2-14 27 1Y4s 22 0.866

0051G08-08 V2 12.7 08 Ya- 27 0 23 0.906

0051G08-12 V2 12.7 Ya - 32 1% 27 1.063

0051G10-10 %% 15.9 10 % - 30 1% 20 0.787

0051G12-08 Ya Ya- 27 0 24 0.945

0051G12-16 Ya 12 1-1 38 1% 26 1.024

0051G16-16 1 254 16 1-11 38 1% 27  1.063

G-27



HOSE AND CONNECTORS CATALOG l‘h INTE RPUMP

Hydraulic Connectors

g
0050 BSP Female 60° Cone - Thrust Wire Nut :l
(DKR) ]
|
a 2
! ()
[
2
|  Dimemsion | m
[ Hex | CutOff |

R | omn | ess |t et o

[ in | mm | size | T [ mm | in | mm | in | E

) 0050G16-20 1 254 16 1% - 11 50 2 30 1.181 n

) 0050G20-20 1V 31.8 20 1% - 11 50 2 32 1.259 Im

) 0050G20-24 1% 31.8 20 1% -1 55 2% 34 1.338 -

) 0050G24-24 1% 38.1 24 1% - 11 55 2% 34 1.338 o

*) 0050G24-32 1% 38.1 24 2-11 70 2% 34 1.338 A

W) 0050G32-32 2 50.8 32 2-11 70 2% 81 1.220 j_>

O

(L

O

T

@)

o m

<l o

Ty S
. O-Ring (*) - BSP female with O-Ring (*) - Available on request without O-Ring (Use order code: 005X) @)
]

(Vp)

A

<

m,

0052 BSP Female 60° Cone - Slip-on Nut
(DKR)

Dimension
[ Hex | _cuton
FAIEREHRSE m Thread [P —— S
n Jom | see | T [ wm ] n [ mm | m |
0052G04-04 Ya 6.4 04 Ya-19 17 Wie 17 0.669
0052G06-06 % 9.5 06 %-19 19 Sh 17 0.669

0052G08-08 V2 12.7 08 V2-14 27 1% 21 0.826



FITTINGS - ONE-PIECE [BRAIDED HOSE, NO-SKIVE]

0251 BSP 45° Swept Elbow 60° Cone - Rolled Nut
(DKR-45°)

Part Number m“ Thesa | —Hex [ Drop T curon

[ in [ mm | size [ T [mm] in [ mm ] in | mm [ in_|]
—--——------

0251G04-04 Va 6.4 Ya- 19 Ya 15 0.591 41 1.614

0251G05-04 Y6 7.9 Ya- 0.630 47 1.850

%%
3

0251G06-04 V3 Ya- Ya 0.630 50 1.969

0251G06-08 V3 06 Va- 27 14 21 0.827 55 2.165

0251G08-08 V2 12.7 Ya- 27 1Yie 24 0.945 65 2.559

0251G08-12 V2 12.7 08 Ya - 32 1% 26 1.024 67 2.638

0251G10-10 78 15.9 7 - 1%s 23 0.906 68 2.677

0251G12-12 Ya 12 Ya - 32 1% 30 1.181 86 3.386

/a

0251G16-16 1 254 16 d=xii 38 1% 35 1.378 107 4.213

0252 BSP 45° Swept Elbow 60° Cone - Slip-on Nut . c
(DKR-45°)

S—— m“ e

0252G06-06 V3 8- 19 Ya 0.590 49 1.929

G-29



th INTERPUMP

Hydraulic Connectors

0151 BSP 90° Swept Elbow 60° Cone - Rolled Nut

(DKR-90°)

[ Hex [ Drop |
FRREEmBEE MM———_

[ in_ | mm [ size | T _[mm /[ in [ mm]| in | mm [ in_ |

0151G04-02 Va 6.4 04 Ye-28 14 Y46 25 0.984 25 0.984
0151G04-04 Va 6.4 04 Ya-19 19 Ya 27 1.063 25 0.984
0151G04-06 Va 6.4 04 7%-19 22 7e 31 1.220 25 0.984
0151G05-04 Y6 7.9 05 Ya-19 19 Ya 31 1.220 31 1.220
0151G05-06 Y6 7.9 05 % -19 22 7 36 1.417 29 1.142
0151G06-04 Y 9.5 06 Ya-19 19 Ya 33 1.299 31 1.220
0151G06-06 b3 9.5 06 % -19 22 7 35 1.378 33 1l.28)
0151G06-08 7 9.5 06 2-14 27 1Yie 40 1.575 31 1.220
0151G08-06 V2 12.7 08 - 19 22 7 42 1.654 39 1.535
0151G08-08 V2 12.7 08 Y2-14 27 0 41 1.614 39 1.535
0151G08-10 Ve 12.7 08 % - 14 30 1% 41 1.614 40 1.575
0151G08-12 V2 12.7 08 Ya-14 32 1% 46 1.811 41 1.614
0151G10-08 % 188 10 Y2-14 27 1Yie 45 1.771 42 1.653
0151G10-10 % 15.9 10 - 14 30 1% 43 1.693 43 1.693
0151G10-12 Y3 15.9 10 Ya-14 32 1% 50 1.969 45 1.772
0151G12-12 Ya 19 12 Ya-14 32 1% 57 2.244 56 2.205
0151G12-16 Ya 19 12 1-1 38 1% 60 2.362 56 2.205
0151G16-16 1 254 16 d=xii 38 1% 67 2.638 70 2.756

“
—]
=
<
Q)
(7 )
1
o)
<
m
=
m
0
m
w
A
>
o
T
O
T
O
wn
m
z
O
%)
A
<
i,




FITTINGS - ONE-PIECE [BRAIDED HOSE, NO-SKIVE]

0150 BSP 90° Swept Elbow 60° Cone - Thrust Wire Nut
(DKR-90°)

Part Number mm thesa | —Hex [ Drop T curon

[ in [ mm | size [ T [ mm] in [ mm] in | mm [ in_|
() —--——------

0150G20-24 1% 318 20 1% - 55 2% 89 3.503 81 3.188
() _--__------
(%) 0150G32-32 2 50.8 32 2-11 70 2% 135 5.314 122 4.803
Ry ' ) (*) - BSP female with O-Ring (*) - Version available without O-Ring (Use order code: 015X)
' O-Ring
(€

0152 BSP 90° Swept Elbow 60° Cone - Slip-on Nut
(DKR-90°)

Part Number m“ Thesa | —Hex [ Drop T curon

[ in [ mm | size [ T [ mm] in [ mm] in | mm [ in_|]
- 0152G04-04 % 64 04 %-19 17 We 26 1023 27 1062

0152G06-06 Y 9.5 06 Y% -19 19 Ya 30 1.181 34 1.338

G-31



HOSE AND CONNECTORS CATALOG l‘h INTE RPUMP

Hydraulic Connectors

0041 BSP O-Ring Female 60° Cone - Rolled Nut (e
(DKR-OR)

Dimension
-:m-
FAIERUHOSE mm Shread

0041G04-04 Va 6.4 04 Ya- 19 19 Ya 17 0.669
0041G06-06 b3 9.5 06 - 19 22 7e 19 0.748
0041G08-08 V2 12.7 08 2-14 27 1% 21 0.827
0041G10-10 % 15.9 10 %% - 14 30 1% 21 1.0.827
0041G12-12 Ya 19 12 Ya-14 32 1% 26 1.024
0041G16-16 1 254 16 1-11 38 1% 28 1.102

[3AIS-ON '3SOH a3AIvyd] 3231d-aNO - SONILLIL

0042 BSP O-Ring Female 60° Cone - Slip-on Nut

(DKR-OR)

 Dimension
-m:-
FRERERESE mm fhieas

mmm—m“m“
0042G04-04 % 64 04 - 19 17 e 17 0.669
0042G06-06 % 95 06 %-19 19 % 17 0.669
0042G08-08 %127 08 %14 27 s 20 0.787



FITTINGS - ONE-PIECE [BRAIDED HOSE, NO-SKIVE]

0241 BSP O-Ring 45° Swept Elbow 60° Cone - Rolled Nut C

(DKR-OR-45°)

[ in [ mm | size [ T [ mm] in [ mm] in | mm [ in |
- 0241G04-04 % 64 04 %-19 19 % 15 0591 41 1614

0241G06-06 % 9.5 06 %-19 22 % 21 0.827 52 2.047
—--——------
0241G10-10 % 15.9 10 % - 30 1% 23 0.906 68 2.677
—--——------
0241G16-16 1 254 16 -1 38 1% 32 1.260 83 3.268
0242 BSP O-Ring 45° Swept Elbow 60° Cone - Slip-on Nut c

(DKR-OR)

Part Number mm Thread |—Hex | Drop | Cut-Off

0242G06-06 Y 9.5 % 19 Ya 15 0.590 49 1.929

G-33



HOSE AND CONNECTORS CATALOG l‘h INTERPUMP

Hydraulic Connectors

0141 BSP O-Ring 90° Swept Elbow 60° Cone - Rolled Nut i

(DKR-OR-90°)

Part Number

0141G04-04 Ya 6.4 04 Ya-19 19 Ya 27 1.063 25 0.984
0141G06-06 % 9.5 06 %-19 22 % 34 1.339 33 1.299
0141G08-08 Y2 12.7 08 Ye-14 27 1V4e 40 1.575 41 1.614
0141G10-10 % 15.9 10 %-14 30 1% 46 1.811 43 1.693
0141G12-12 Ya 19 12 Ya-14 32 1% 54 2.126 56 2.205
0141G16-16 1 25.4 16 1-1 38 1% 67 2.638 70 2.756

0142 BSP 90° Swept Elbow 60° Cone - Slip-on Nut C

(DKR-OR-90°)

| 0 Dimemsion 000000000000 |

| Hex | Drop | CutOff |

SRS mm--_
[ in T mm | size [ T [ mm] in [ mm ] in [ mm [ in_|

0142G04-04 Ya 6.4 04 Ya-19 17 Ve 24 0.944 27 1.062
0142G06-06 b3 9.5 06 - 19 19 Ya 28 1.102 34 1.338
0142G08-08 V2 12.7 08 Y2-14 27 1Y 37 1.456 42 1.653

[3AIS-ON '3SOH a3AIvyd] 3231d-aNO - SONILLIL



FITTINGS - ONE-PIECE [BRAIDED HOSE, NO-SKIVE]

2321 BSP 90° Compact Elbow 60° Cone - Rolled Nut

(DKR-90°-K)

mmm—mmmmmmm“
) —--——--------

2321G04-06 Y %-19 2 % A7 W 20 1142 24 0945
_--__--------
() 2321G06-06 % 06 %-19 2 % 17 W 23 0906 23 0.906
_--__--------
() 2321G08-08 % 127 08 %- 14 27 % 22 % 27 1063 26 1.024
Co22161242 . % 19 12 %-14 32 1% 27 1k 32 1260 32 1.260

2321G16-16 1 254 16 1-11 38 1% 32 1% 3 1 38 149%

2320 BSP 90° Compact Elbow 60° Cone - Thrust Wire Nut

(DKR-90°-K) F

Hose I.D. Hex Dro Cut Off

Part Numb
a umber Dash Thread E1 E2

2320G04-06 V2 12.7 08 2-14 27 e 22 7e 27 1062 26 1.023

=

. O-Ring (*) - BSP female without O-Ring (*) Version with O-Ring available (Use order code: 2311).

G-35



th INTERPUMP

Hydraulic Connectors

0345 BSP Male Flat Seat

(AGR-F)

Part Number

0345G04-04 Ya 6.4 04 Ya-19 19 Ya 27  1.062
0345G06-06 % 9.5 06 %-19 22 % 29 1141
0345G06-08 % 9.5 06 Y- 14 27 146 32 1.259
0345G08-08 VA 12.7 08 Y- 14 27 1% 33 1.299
0345G12-12 Ya 19 12 Ya-14 32 1% 36 1.417

0060 BSP Female Flat Seat
(DKR-F)

“
—]
=
<
Q)
(7 )
1
o)
<
m
=
m
0
m
w
A
>
o
T
O
T
O
wn
m
z
O
%)
A
<
i,

0060G04-04 Va 6.4 04 Va- 19 19 Ya 14 0.551
0060G04-06 Va 6.4 04 % -19 22 7 15 0.591
0060G05-04 Y6 7.9 05 Va-19 19 Ya 14 0.551
0060G05-06 Y6 9 05 %% -19 22 7 15 0.591
0060G05-08 Y 7.9 05 V2-14 27 16 17  0.669
0060G06-06 b3 9.5 06 %-19 22 7 15 0.591
0060G06-08 b3 9.5 06 Y2-14 27 2 16 0.630
0060G08-08 V2 12.7 08 V2-14 27 Z5 16  0.630
0060G08-10 V2 12.7 08 76 - 14 30 1% 16 0.630
0060G08-12 V2 12.7 08 Ya-14 32 1% 23 0.906
0060G10-10 % 15.9 10 % - 14 30 1% 16 0.630
0060G10-12 %8 15.9 10 Ya-14 32 1% 20 0.787
0060G12-12 Ya 19 12 Ya-14 32 1% 21 0.827
0060G12-16 Ya 19 12 1-1 38 1% 23  0.906

0060G16-16 1 254 16 1=kl 38 1% 22  0.866




G-37

FITTINGS - ONE-PIECE [BRAIDED HOSE, NO-SKIVE]

1400
(RNR)

1600

BSP Banjo

[ b [ cuton

| in [ mm [ size | T | mm [mm] in | mm] in_ |
_--___----
1400G03-04 % 4.8 03 Y- 133 24 0945 26 1.024
_--___----
1400G04-04 % Y- 133 24 0945 26 1.024
_--___----
1400G05-04 % 7.9 Y- 133 24 0945 26 1.024
_--___----
1400G06-04 % 06 Y- 133 24 0945 26 1.024
_--___----
1400G06-08 % 06 %- 212 1417 31 1.220
_--___----
1400G08-08 % 127 08 %- 212 1417 31 1.220
_--___----
1400G08-12 % 127 08 %4 - 265 45 1772 38 1496
_--___----
1400G10-12 % 159 10 %4 - 265 45 1772 38 1496
_--___----

1400G12-16 Ya 12 -1 8815 58 2283 49 1.929

BSP Perforated Bolt

1600-00 (Type A) 1600 (Type B)
(Double Perforated Bolt)

Part Number | B | v ] H ]
[ mm [ in | mm ] in_[ mm] in_|

1600-00-02 %- 28 19 0748 24 0945 14 %
--— 29 1142 34 1339 19 %
--— 43 1693 49 1929 19 %

1600-00-06 “. 33 1299 41 1614 22 %

. 1600-06-06 ° 49 1929 57 2244 22 %
e 1600-00-08 38 149 46 1.811 27 Vs
--— 62 2441 70 2756 27 Vs

1600-00-10 %- 14 44 1732 54 21426 30 1%
--— 47 1850 56 2205 32 1%
--— 78 3071 87 3425 32 1%

1600-00-16 o 58 2283 69 2717 41 1%

. 1600-16-16 98 3858 109 4201 41 1%




HOSE AND CONNECTORS CATALOG l‘h INTERPUMP

Hydraulic Connectors

FK50 Karcher Female

| Dimemsion |

| in_[mm | size | T _[mm] in [mm] in [ mm ]| in_|

FK50G04-22 Va 6.4 04 M22 x 1.5 14 0551 20 0.787 31 1.220
FK50G05-22 Y46 7.9 05 M22 x 1.5 14 0551 20 0.787 31 1.220
FK50G06-22 b3 9.5 06 M22 x 1.5 14 0551 20 0.787 31 1.220
FK50G04022 Va 6.4 04 M22 x 1.5 14 0551 27 1.063 31 1.220
FK50G05022 Y46 7.9 05 M22 x 1.5 14 0551 27 1.063 31 1.220
FK50G06022 b3 9.5 06 M22 x 1.5 14 0551 27 1.063 31 1.220

[3AIS-ON '3SOH a3AIvyd] 3231d-aNO - SONILLIL



FITTINGS - ONE-PIECE [BRAIDED HOSE, NO-SKIVE]

0550 Metric Standpipe
(BEL-BES) . =

0550G03-06 Y6 4.8 03 0.236 L/S 30 1.181

0550G04-08 Va 04 0.315 L/S 30 1.181

0550G04-12 Va 04 12 0.472 L/S 30 1.181

0550G05-10 Y6 7.9 10 0.394 L/S Jil 1.220

0550G06-08 % 0.315 L/S 88 1.299

0550G06-12 % 06 12 0.472 L/S 32 1.260

0550G06-15 % 15 0.591 L 32 1.260

0550G08-14 V2 12.7 08 14 0.551 S 89 1.535

0550G08-16 V2 12.7 08 16 0.630 S 89 1.535

0550G08-20 V2 12.7 08 20 0.787 S 45 1.772

0550G10-20 % 15.9 10 20 0.787 S 45 1.772

0550G12-18 Ya 12 18  0.709 L 37 1.457

0550G12-22 Ya 12 22 0.866 L 38 1.496

0550G12-28 Ya 19 12 28  1.102 L 40 1.575

0550G16-28 1 25.4 16 1.102 1.614

0550G16-38 1 25.4 16 1.496 2.362

G-39



th INTERPUMP

Hydraulic Connectors

0750 45° Metric Standpipe

(BEL-BES-45°)

Y 7
| Pipe | | Drop | cutOff |
[ T | Twpe [ H | ¢ |

mmmm“ mmmm
0750G04-06 04 0.236 Us 0945 41 1614
0750G04-08 % 6.4 04 8 0.315 Us 25 0984 43 1693
0750G04-10 % 64 04 10 0.394 Us 30 1181 47  1.850
0750G05-10  %s 7.9 05 10 0.394 Us 30 1181 49 1.929
0750G05-12 % 7.9 05 12 0472 Us 32 1260 53 2,087
0750G06-10 % 95 06 10 0.394 Us 33 1299 50 1.969
0750G06-12 % 95 06 12 0472 Us 33 1299 52 2047

&=

0750 45° Metric Standpipe (Welded)

(BEL-BES-45°)

“
—]
=
<
Q)
(7 )
1
o)
<
m
=
m
0
m
w
A
>
o
T
O
T
O
wn
m
z
O
%)
A
<
i,

2
N

| 2 Dimension 00000 |

T [ Pipe | [ Drop | cutoff |

1 | e [ H | ¢ |

[ in [ mm [ _size  [mm] in_| mmmm
0750G04-12 % 64 04 12 0472 us 29 1.142 2126
0750G06-14 % 95 06 14 0551 s 27 1.063 50 1.969
0750G06-15 % 95 06 15 0591 L 20 1142 54 2126
0750G08-14 % 127 08 14 0551 s 27 1063 50 1.969
0750G08-15 % 127 08 15 0591 L 29 1142 55 2165
0750G08-16 % 127 08 16 0630 s 27 1063 54 2126
0750G08-18 % 127 08 18 0709 L 20 1142 56 2205
0750G10-18 % 159 10 18 0709 L 20 1142 56 2205
0750G10-20 % 159 10 20 0787 s 34 1339 56 2205
0750G610-22 % 159 10 22 0.866 L 3 1378 66 2598
075061220 % 19 12 20 0787 s 34 1339 63 2480
0750G12-22 % 19 12 22 0.866 L 3 1378 65 2559
0750G12-25 % 19 12 25 0984 s 41 1614 76 2992
0750G16-25 1 254 16 25 0984 s 41 1614 76 2992
0750G16-28 1 254 16 28 1.102 L 49 1929 84 3307
0750G16-30 1 254 16 30 1181 s 44 1732 86 3386




FITTINGS - ONE-PIECE [BRAIDED HOSE, NO-SKIVE]

0650

(BEL-BES-90°)

0650

(BEL-BES-90°)

G-41

90° Metric Standpipe

_ Type _

0650G04-06 Va 6.4 0.236 1260 23  0.906

0650G04-10 Va 6.4 10  0.394 L/S 43 1693 25 0.984

0650G05-12 Y46 7.9 12 0472 L/S 45 1772 29 1.142

0650G06-12 Y% 06 12 0472 L/S 44 1732 30 1.181

90° Metric Standpipe (Welded)

Part Number

0650G05-08 Y6 78 0.315 L/S 41 1614 27 1.063

0650G06-15 b3 15 0.591 52 2.047 39 1.535

0650G08-14 Y2 12.7 14 0.551 46 1.811 36 1.417

0650G08-16 V2 12.7 16 0.630 2205 42 1.654

0650G10-18 % 15.9 18  0.709 2205 42 1.654

0650G10-22 % 15.9 22 0.866 71 2795 51 2.008

0650G12-22 Ya 22 0.866 71 2795 51 2.008

0650G16-25 1 25.4 25 0.984 75 2953 57 2244

0650G16-30 1 25.4 1.181 3.504 65 2559



th INTERPUMP

Hydraulic Connectors

1350 Metric Banjo g 0
(RNM)

Part Number

1350G04-10 Ya 6.4 04 M10 x 1 10.2 17 0669 25 0.984
1350G04-12 Ya 6.4 04 M12x 1.5 12.2 20 0.787 22 0.866
1350G04-14 Ya 6.4 04 M14 x 1.5 14.2 24 0945 25 0.984
1350G05-14 Y6 7.9 05 M14 x 1.5 14.2 24 0945 25 0.984
1350G05-16 Ye 7.9 05 M16 x 1.5 16.2 28 1.102 31 1.220
1350G05-18 Y6 7.9 05 M18 x 1.5 18.2 32 1260 29 1.142
1350G06-14 % 9.5 06 M14 x 1.5 14.2 24 0945 25 0.984
1350G06-16 % 9.5 06 M16 x 1.5 16.2 28 1102 31 1.220
1350G06-18 % 9.5 06 M18 x 1.5 18.2 32 1260 29 1.142
1350G06-22 % 9.5 06 M22 x 1.5 22.2 36 1417 31 1.220
1350G08-16 Y 12.7 08 M16 x 1.5 16.2 28 1.102 30 1.181
1350G08-18 Y 12.7 08 M18 x 1.5 18.2 32 1260 29 1.142
1350G08-22 Y 12.7 08 M22 x 1.5 22.2 36 1417 31 1.220
1350G10-22 % 15.9 10 M22 x 1.5 22.2 36 1417 31 1.220
1350G10-26 % 15.9 10 M26 x 1.5 26.2 45 1772 38 1.496
1350G12-22 Ya 19 12 M22 x 1.5 22.2 36 1417 32 1.260
1350G12-26 % 19 12 M26 x 1.5 26.2 45 1772 38 1.496
1350G16-30 1 25.4 16 M30 x 1.5 30.2 54 2126 45 1.772

“
—]
=
<
Q)
(7 )
1
o)
<
m
=
m
0
m
w
A
>
o
T
O
T
O
wn
m
z
O
%)
A
<
i,

1650 Metric Perforated Bolt

Part Number | B8 | L | H |
[ mm | in | mm | in_ [ mm [ in |

1650-00-10 M10 x 1 19 0748 24 0.945 14 Y46
1650-00-12 M12 x 1.5 26 1.024 31 1.220 17 Wie
1650-00-14 M14 x 1.5 29 1142 34 1.339 19 Ya

1650-00-16 M16 x 1.5 33 1299 41 1.614 22 7

1650-00-18 M18 x 1.5 37 1457 44 1.732 24 V42
1650-00-20 M20 x 1.5 38 1496 46 1.811 27 1Y4e
1650-00-22 M22 x 1.5 38 1496 46 1.811 27 Z0
1650-00-26 M26 x 1.5 47 1850 56 2.205 32 1%

1650-00-30 M30 x 1.5 58 2283 68 2.677 36 1%




FITTINGS - ONE-PIECE [BRAIDED HOSE, NO-SKIVE]

0430 French Metric GAZ Male 24° Cone
(AGF)

043061030 % 159 10 M30x15 215 0846 32 1% 31 1220
©0430G12:36 % 19 12 M36x15 27 1062 36 1% 40 1574
0430G16-45 1 254 16 M45x15 34 1338 46 1% 38 1496

0030 French Metric GAZ Female 24° Cone

(DKF)

—

Al A S ST

NNIVAE

mmm—mmmm

0030G10-30 % 15.9 10 M30x15 36 1%e 25 0.984

0130 French Metric GAZ 90° Swept Elbow 24° Cone

(DKF-90°) r

Dimension
Hose I.D.

Part Number

G-43



HOSE AND CONNECTORS CATALOG i'h INTERPUMP
Hydraulic Connectors

0100 Metric Female 60° Cone
(DKM)

[ Dimension
-m:-
FAEREHESE mm jhiead

0100G12-30 Ya 12 M30 x15 36 1% 23  0.905
0100G20-45 1Y 31 .8 20 M45x 1.5 50 2 34  1.338

0200 90° Metric Swept Elbow 60° Cone

o ”]
(DKM-90°)
grceeaas \

[3AIS-ON '3SOH a3AIvyd] 3231d-aNO - SONILLIL

Dimension
[ Hex | Drop | Cutomr |
FREREHESE mm- e

|+ [ c ]

[ in [ mm | size [ T Jmm [ in [ mm [ in | mm [ in |
weided | 0200612-30 | % 19 12 M30x15 36 1% 57 2244 48  1.889
0200G16-38 1 254 16 M38x15 46 1% 71 2795 70 2755
weided | 0200620-45 | 1% | 318 20 M45x1.5 50 2 71 2795 63 2480




G-45

FITTINGS - ONE-PIECE [BRAIDED HOSE, NO-SKIVE]

0035 Metric Female Light Multiseal 24° Cone
(DKL)

[ hex__|__cutoff |
SaREREmESE mm jibe -

[ in T mm | size [ T [ mm [ in [mm[ in | mm [ in |
003560312 % 48 03 MI2x15 6 0236 14 % 19 0748

0035G04-14 Va 6.4 04 M14 x 1.5 8 0.314 17 Ve 19 0748

0035G06-18 Y 06 M18 x 1.5 12 0472 22 e 23 0.905

0035G10-26 % 15.9 10 M26 x 1.5 18 0.708 32 1% 24 0.944

0235 45° Metric Multiseal Swept Elbow 24° Cone

(DKL-45°)

-m_——

0235G04-14 Ya 6.4 M14 x 1.5 0.314 17 Ve 14 0.551 40 1.574
_--__----__--
c

0135 90° Metric Multiseal Swept Elbow 24° Cone

(DKL-90°)

-m_——

0135G04-16 Ya 6.4 M16 x 1.5 10 0.393 19 Ya 0.944 26 1.023

0135G06-18 Y M18 x 1.5 12 0.472 7 1.299 32 1.259

0135G10-26 % 15.9 10 M26 x 1.5 18 0.708 32 1% 42 1.653 46 1.811



th INTERPUMP

Hydraulic Connectors

0500 Metric Male 24° Seat Light

(CEL) F

-_
b
-

=

-

2

Q)

(7]

T |

(@)

2

e M

FArREMBEE m- o

0 [ mm | swe | T | mm [ in |mm ] in [ mm | in | =

0500G04-12 Ya 6.4 04 M12x 1.5 6 0.236 14 Y6 23 0.906 n

0500G04-14 Ya 6.4 04 M14 x 1.5 8 0.315 14 Y6 22 0.866 m
0500G04-16 Ya 6.4 04 M16 x 1.5 10 0.394 17 e 23 0.906

0500G04-18 YVa 6.4 04 M18 x 1.5 12 0.472 19 % 24 0.945 E'

0500G05-14 Y6 7.9 05 M14 x 1.5 8 0.315 14 Y6 22 0.866 §

0500G05-16 %6 7.9 05 M16 x 1.5 10 0.394 17 Yie 23 0.906 —

0500G05-18 Y6 7.9 05 M18 x 1.5 12 0.472 19 Ya 24 0.945 F?'I

0500G05-22 Y6 7.9 05 M22 x 1.5 15 0.591 22 VA 25 0.984 O

0500G06-16 % 9.5 06 M16 x 1.5 10 0.394 17 Wie 23 0.906 T

0500G06-18 s 9.5 06 M18 x 1.5 12 0.472 19 Y 24 0.945 O

0500G06-22 s 9.5 06 M22 x 1.5 15 0.591 22 VA 25 0.984 (I_{_Ij

0500G08-18 A 12.7 08 M18 x 1.5 12 0.472 19 VA 25 0.984 »

0500G08-22 A 12.7 08 M22 x 1.5 15 0.591 22 VA 26 1.024 Z

0500G08-26 Ya 12.7 08 M26 x 1.5 18 0.709 27 1%46 27 1.063 ,O

0500G10-22 % 15.9 10 M22 x 1.5 15 0.591 22 s 26 1.024 2

0500G10-26 % 15.9 10 M26 x 1.5 18 0.709 27 1Vie 27 1.063 E

0500G10-30 s 15.9 10 M30 x 2 22 0.866 30 1%e 32 1.260 m

0500G12-26 % 19 12 M26 x 1.5 18 0.709 27 1Vie 28 1.102 —
0500G12-30 Y 19 12 M30 x 2 22 0.866 30 1% 88 1.299
0500G12-36 Y 19 12 M36 x 2 28 1.102 36 1%e 31 1.220
0500G16-36 1 25.4 16 M36 x 2 28 1.102 36 1%6 32 1.260
0500G20-45 1Y 31.8 20 M45 x 2 35 1.377 46 1%6 36 1.417

0500G24-52 1% 38.1 24 M52 x 2 42 1.653 55 2% 38 1.496




FITTINGS - ONE-PIECE [BRAIDED HOSE, NO-SKIVE]

0085 Metric Female 24° Seat Light
(DKOL)

0085G04-14 Va 6.4 04 M14 x 1.5 8 0315 17 Wie 24 0945

0085G04-18 Va 6.4 M18 x 1.5 12 0472 22 s 25 0.984

0085G05-18 Y46 79 M18 x 1.5 0.472 Y 0.984

0085G06-22 Y M22 x 1.5 15 0.591 27 1Y4e 29 1.142

0085G08-26 V2 12.7 08 M26 x 1.5 18 0.709 32 1% 29 1.142

0085G10-30 V3 15.9 M30 x 2 0.866 36 1% 29 1142

0085G12-36 Ya M36 x 2 28 1102 41 1% 28  1.102

0085G20-45 1% 31.8 20 M45 x 2 85 1377 50 1.574

0085 Metric Female 24° Seat Light (Rolled Nut)
(DKOL)

--——_nnggazzr'-

_a_h.b_).) <!

[ in | mm [ size | T [ mm [ in [mm [ in [ mm [ in |
008560412 % 64 04 MI2x15 6 0236 14 % 25 0984

0085G05-14 Y46 7.9 05 M14 x 1.5 8 0.315 19 Ya 26  1.024

0085G08-18 V2 12.7 M18 x 1.5 12 0472 24 Va2 28  1.102

0085G12-26 Ya 12 M26 x 1.5 18 0.709 32 1% 36 1.417

G-47



th INTERPUMP

Hydraulic Connectors

0285 45° Metric Swept Elbow 24° Seat Light

(DKOL-45°)

[

[ in_| mm [ size |
04

“
—]
=
<
Q)
(7 )
1
o)
<
m
=
m
0
m
w
A
>
o
T
O
T
O
wn
m
z
O
%)
A
<
i,

[ T | mm | in |
0285G04-14 Ya 6.4 M14 x 1.5 8 0.315 17 Wie 14 0.551 42 1.654
0285G04-16 Ya 6.4 04 M16 x 1.5 10 0.394 19 % 15 0.591 42 1.654
0285G04-18 Ya 6.4 04 M18 x 1.5 12 0.472 22 VA 16 0.630 43 1.693
0285G05-16 Y6 7.9 05 M16 x 1.5 10 0.394 19 Y 17 0.669 48 1.890
0285G05-18 Y6 7.9 05 M18 x 1.5 12 0.472 22 % 18 0.709 48 1.890
0285G06-18 % 9.5 06 M18 x 1.5 12 0.472 22 s 19 0.748 52 2.047
0285G06-22 % 9.5 06 M22 x 1.5 15 0.591 27 1%4s 19 0.748 51 2.008
0285G08-22 A 12.7 08 M22 x 1.5 15 0.591 27 1V4e 21 0.827 63 2.480
welded 0285G08-26 VA 12.7 08 M26 x 1.5 18 0.709 32 1V 17 0.669 44 1.732
0285G10-22 % 15.9 10 M22 x 1.5 15 0.590 27 1%4s 32 1.259 70 2.755
0285G10-26 % 15.9 10 M26 x 1.5 18 0.709 32 1% 23 0.906 68 2.677
welded 0285G12-26 Ya 19 12 M26 x 1.5 18 0.709 32 1Y 19 0.748 43 1.693
0285G12-30 Ya 19 12 M30 x 2 22 0.866 36 1%s 27 1.063 85 3.346
0285G16-36 1 25.4 16 M36 x 2 28 1.102 41 1% 32 1.260 102 4.016
0285G20-45 1Y 31.8 20 M45 x 2 35 1.377 50 2 34 1.338 72 2.834
0285G24-52 1% 38.1 24 M52 x 2 42 1.653 60 2% 36 1.417 85 3.346
0285 45° Metric Swept Elbow 24° Seat Light (Rolled Nut) C

(DKOL-45°)

- Dimension
[ Hex | Drop | _Cutomr |
FREREHESE mm fHhe --1—

| in_ | mm ]| size | T | mm ]| in [mm]| in | mm [ in_[ mm]| in_|

0285G04-12 Ya 6.4 04 M12x 1.5 6 0.236 14 Y46 20 0.787 46 1.811
0285G06-16 Y 9.5 06 M16 x 1.5 10 0.394 19 Ya 22 0.866 55  2.165




FITTINGS - ONE-PIECE [BRAIDED HOSE, NO-SKIVE]

0185 90° Metric Swept Elbow 24° Seat Light

(DKOL-90°)

| in [ mm ]| size | T | mm | in [mm] in [ mm | in [ mm] in |
_--__--------

0185G04-14 Ya M14 x 1.5 0315 17 Vie 26 1.024 26 1.024

0185G04-18 Ya M18 x 1.5 12 0.472 1.181 27 1.063

0185G05-18 Yie 7.9 05 M18 x 1.5 12 0.472 78 32 1.260 31 1.220

0185G06-22 b3 M22 x 1.5 0.591 27 1Y 35 1.378 32 1.260

0185G08-26 V2 12.7 M26 x 1.5 0.709 32 1% 39 1.535 41 1.614

welded 0185G12-26 Ya M26 x 1.5 18 0.709 32 1% 44 1.732 42 1.654

welded 0185G12-36 Ya M30 x 2 28 1102 41 1% 51 2.008 49  1.929

0185G20-45 1% 31.8 20 M45 x 2 35 1.377 73 1.574 63  2.480

0185 90° Metric Swept Elbow 24° Seat Light (Rolled Nut)

(DKOL-90°)

mmmmmmmm“mm
_--__--------

0185G05-14 Y46 7.9 05 M14x 1.5 0315 17 Ve 38 1.496 30 1.181

welded ~ 0185G08-18 V2 12.7 M18 x 1.5 0.472 7 1.890 33 1.299

G-49



th INTERPUMP

Hydraulic Connectors

0450 Metric Male 24° Seat Heavy

(CES)

Part Number

0450G04-14 Va 6.4 04 M14 x 1.5 6 0236 14 Y6 25 0.984
0450G04-16 Ya 6.4 04 M16 x 1.5 8 0315 17 Vie 27 1.063
0450G04-18 Va 6.4 04 M18 x 1.5 10 0.394 19 Ya 27 1.063
0450G04-20 Ya 6.4 04 M20 x 1.5 12 0472 22 0.866 29 1.141
0450G05-18 Y46 7.9 05 M18 x 1.5 10 0.394 19 Ya 27 1.063
0450G05-20 Y46 7.9 05 M20 x 1.5 12 0472 22 78 29 1.142
0450G06-18 Y @5 06 M18 x 1.5 10 0.394 19 Ya 27 1.063
0450G06-20 b3 9.5 06 M20 x 1.5 12 0472 22 Va3 29 1.142
0450G06-22 b3 9.5 06 M22 x 1.5 14 0.551 22 3 31 1.220
0450G06-24 b3 9.5 06 M24 x 1.5 16 0.630 24 V4o 31 1.220
0450G08-24 Ya 12.7 08 M24 x 1.5 16 0.630 24 Bz 32 1.260
0450G10-30 % 15.9 10 M30 x 2 20 0.787 30 1%e 34 1.339
0450G12-30 Y4 19 12 M30 x 2 20 0.787 30 1% 35 1.378
0450G12-36 Ya 19 12 M36 x 2 25 0.984 36 1%e 38 1.496
0450G16-36 1 254 16 M36 x 2 25 0.984 36 1%e 39 1.535
0450G16-42 1 254 16 M42 x 2 30 1.181 46 1'% 42 1.654

“
—]
=
<
Q)
(7 )
1
o)
<
m
=
m
0
m
w
A
>
o
T
O
T
O
wn
m
z
O
%)
A
<
i,




G-51

FITTINGS - ONE-PIECE [BRAIDED HOSE, NO-SKIVE]

0084
(DKOS)

Metric Female 24° Seat Heavy

0084G04-16 Va 04 M16 x 1.5 0315 19 Ya 25 0.984

0084G04-20 Ya M20 x 1.5 12 0472 24 Bz 25 0.984

0084G05-20 Y6 7 05 M20 x 1.5 12 0472 24 Va2 26 1.024

0084G06-18 b3 M18 x 1.5 0.394 7 0.984

0084G06-22 b3 M22 x 1.5 0.551 27 14 29 1.142

0084G08-20 V2 12.7 08 M20 x 1.5 12 0472 27 146 28 1.102

0084G08-24 V2 12.7 M24 x 1.5 0.630 30 1%e 30 1.181

0084G10-24 b3 15.9 10 M24 x 1.5 16 0.630 30 1% 31 1.220

0084G12-24 Ya M24 x 1.5 0.629 30 1% 32 1.259

0084G12-36 Ya M36 x 2 0.984 46 1'% 40 1.575

0084G16-42 1 254 16 M42 x 2 30 1.181 43 1.693

0084G24-52 1% 38.1 24 M52 x 2 38 1496 60 2% 44 1.732




th INTERPUMP

Hydraulic Connectors

0284 45° Metric Swept Elbow 24° Seat Heavy
(DKOS-45°)

. Dimension 000000 |

mmm—mmmmmmm“
0284G04-14 Ya 6.4 04 M14x 1.5 0.236 17 e 15 0.591 37 1.457
0284G04-16 Ya 6.4 04 M16 x 1.5 8 0.315 19 Ya 15 0.591 42 1.654
0284G04-18 Ya 6.4 04 M18 x 1.5 10 0.394 22 % 18 0.709 45 1.772
0284G05-20 Y6 7.9 05 M20 x 1.5 12 0.472 24 Va2 19 0.748 49 1.929
0284G06-18 % 9.5 06 M18 x 1.5 10 0.394 22 VA 19 0.748 51 2.008
0284G06-20 % 9.5 06 M20 x 1.5 12 0.472 24 R 18  0.709 53 2.087
0284G06-22 % 9.5 06 M22 x 1.5 14 0.551 27 1V 20 0.787 54 2.126
0284G08-24 Ve 12.7 08 M24 x 1.5 16 0.630 30 1% 21 0.827 63 2.480
0284G10-30 % 15.9 10 M30 x 2 20 0.787 36 1%s 29 1.142 74 2.913
0284G12-30 Ya 19 12 M30 x 2 20 0.787 36 1% 30 1.181 87 3.425
0284G12-36 Ya 19 12 M36 x 2 25 0.984 46 1% 31 1.220 74 2913
0284G16-36 1 254 16 M36 x 2 25 0.984 46 1% 34 1.339 105 4.134
0284G16-42 1 254 16 M42 x 2 30 1.181 50 2 33 1.299 82 3.228
0284G20-52 1% 31.8 20 M52 x 2 38 1.496 60 2% 39 1.535 105 4.133

“
—]
=
<
Q)
(7 )
1
o)
<
m
=
m
0
m
w
A
>
o
T
O
T
O
wn
m
z
O
%)
A
<
i,




FITTINGS - ONE-PIECE [BRAIDED HOSE, NO-SKIVE]

0184 90° Metric Swept Elbow 24° Seat Heavy

(DKOS-90°)

| in [ mm | size | T | mm | in [mm] in [mm]| in | mm | in_ |
_---_--------

0184G04-16 Va 04 M16 x 1.5 0315 19 Ya 26 1.024 26 1.024

0184G04-20 Ya M20 x 1.5 12 0472 24 Bz 30 1.181 27 1.063

0184G05-20 Y6 7 05 M20 x 1.5 12 0472 24 Va2 34 1.339 30 1.181

0184G06-20 b3 M20 x 1.5 0472 24 Y42 34  1.339 34 1.339

0184G06-24 b3 M24 x 1.5 0629 30 1%e 35 1.377 33 1.299

0184G08-24 V2 12.7 08 M24 x 1.5 16 0.630 30 1%e 41 1.614 40 1.575

welded 0184G10-24 % 15.9 M24 x 1.5 0.630 30 1%e 38  1.496 42 1.654

0184G12-30 Ya M30 x 2 20 0.787 36 1% 56  2.205 58 2.283

0184G16-36 1 254 M36 x 2 0984 46 1% 67 2638 69 2717

0184G20-52 1% 31.8 M52 x 2 38 1496 60 2% 82  3.228 84 3.307

G-53



th INTERPUMP

Hydraulic Connectors

1260 Straight SAE Flange - Code 61 i T

(SFL)

1260G08-08 Y 12.7 08 V2 30.2 45 1.772
1260G08-12 V2 12.7 08 Ya 38.1 50 1.969
1260G10-08 V43 15.9 10 V2 30.2 45 1.772
1260G10-12 % 15.9 10 Ya 38.1 49 1.929
1260G12-12 Ya 19 12 Ya 38.1 50 1.969
1260G12-16 Ya 19 12 1 445 53 2.087
1260G16-12 1 254 16 Ya 38.1 51 2.007
1260G16-16 1 254 16 1 445 54 2.126
1260G16-20 1 254 16 1Y 50.8 57 2.244
1260G20-20 1% 31.8 20 1Y 50.8 59 2.322
1260G20-24 1% 31.8 20 1% 60.3 62 2.440
1260G24-24 1% 38.1 24 1% 60.3 62 2.440
1260G24-32 1% 38.1 24 2 71.4 67 2.637
1260G32-32 2 50.8 32 2 71.4 68 2.677
1260G32-40 2 50.8 32 AZS 84.1 76 2.992

“
—]
=
<
Q)
(7 )
1
o)
<
m
=
m
0
m
w
A
>
o
T
O
T
O
wn
m
z
O
%)
A
<
i,




G-55

FITTINGS - ONE-PIECE [BRAIDED HOSE, NO-SKIVE]

1160
(SFL-45°)

1060
(SFL-90°)

45° SAE Flange - Code 61

| Drop |
m
mmm—mmmm“

1160G08-12 %127 08 38.1 25 0984 67 2638
_--___--_-
1160G12-16 % 30 1181 88  3.465
_--___--_-
1160G16-20 1 254 16 1% 50.8 37 1457 108 4.252
_--___--_-
1160G20-24 1% 3138 20 1% 60.3 1535 129 5078
_--___--_-
1160G24-32 1%  38.1 47 1850 148 5826

90° SAE Flange - Code 61

size mm

1060G08-12 V2 12.7 1.732 39 1.535

1060G10-12 % 15.4 47 1.850 45 1.772

1060G12-16 Ya 2.283 56 2.205

1060G16-20 1 25.4 16 1% 50. 2.756 70 2.756

1060G20-24 1% 318 20 1% 60. 81 3.188 85 3.346

1060G24-24 1%  38.1 24 1% 60. 3.503 98 3.858

1060G32-32 2 50.8 121 4.763 123 4.842



1060 22.5°/30°/60°/67.5°/110°/135° SAE Flange - Code 61

(SFL-22.5°)

(SFL-30°)

(SFL-60°)

(SFL-67.5%)

(SFL-110°)

(SFL-135°)

Part Number

1060G08-08 22.5
1060G12-12 22.5
1060G12-16 22.5
1060G16-16 22.5
1060G16-20 22.5
1060G20-20 22.5
1060G20-24 22.5
1060G24-24 22.5
1060G32-32 22.5
1060G12-12 30
1060G12-16 30
1060G16-16 30
1060G16-20 30
1060G20-20 30
1060G20-24 30
1060G24-24 30
1060G24-32 30
1060G32-32 30
1060G12-12 60
1060G16-16 60
1060G16-20 60
1060G20-20 60
1060G20-24 60
1060G24-24 60
1060G24-32 60
1060G32-32 60
1060G12-12 67.5
1060G12-16 67.5
1060G16-16 67.5
1060G16-20 67.5
1060G20-20 67.5
1060G24-24 67.5
1060G32-32 67.5
1060G32-40 67.5
1060G24-24 110
1060G32-32 110
1060G16-16 135

th INTERPUMP

Hydraulic Connectors

A

V2
Ya
Ya
1
1
1%
1Y
1%

Ya
Ya

1%
1Y
1%
1%

Ya

1%
1Y
1%
1%

12.7 08
19 12
19 12

25.4 16

254 16

31.8 20

31.8 20

38.1 24

50.8 32
19 12
19 12

254 16

254 16

31.8 20

31.8 20

38.1 24

38.1 24

50.8 32
19 12

254 16

254 16

31.8 20

31.8 20

38.1 24

38.1 24

50.8 32
19 12
19 12

254 16

254 16

31.8 20

38.1 24

50.8 32

50.8 32

38.1 24

50.8 32

254 16

%

Ya

| _mm_|
30.2
38.1
44.5
44.5
50.8
50.8
60.3
60.3
71.4
38.1
44.5
445
50.8
50.8
60.3
60.3
71.4
71.4
38.1
44.5
50.8
50.8
60.3
60.3
71.4
71.4
38.1
445
44.5
50.8
50.8
60.3
71.4
84
60.3
71.4
44.5

| Drop | CutOff

|_mm_|
9

1"
13
14
22.5° 17
14
17
17
28
16
18
19
23
30° 26
22
28
25
S5
36
43
47
49
48
55
63
80
41
45
48
51
56
63
92
85
104
125
135° 80

60°

67.5°

110°

| H | ¢ |
[ in_| mm | in_|
0.354 66 2.598
0.433 76 2.992
0.511 88 3.464
0.551 89 3.504
0.669 116 4.566
0.551 1M1 4.370
0.669 137 5.393
0.669 124 4.882
1.102 144 5.669
0.630 75 2.953
0.708 88 3.464
0.748 87 3.425
0.905 114 4.488
1.024 109 4.291
0.866 136 5.354
0.906 122 4.803
0.984 155 6.102
1.378 142 5.591
1.417 76 2.992
1.693 95 3.740
1.850 o) 3.897
1.929 116 4.567
1.889 119 4.685
2.165 138 5.433
2.480 134 5.275
3.150 170 6.693
1.614 72 2.835
1.771 74 2913
1.890 91 3.583
2.007 93 3.661
2.205 110 4.331
2.480 131 5.157
3.622 158 6.220
3.346 168 6.614
4.094 92 3.622
4.921 100 SR
3.149 52 2.047

[3AINS-ON '3SOH a3divdd] 3231d-INO - SONILLIE




FITTINGS - ONE-PIECE [BRAIDED HOSE, NO-SKIVE]

1310 Straight SAE Flange - Code 62
(SFS)

| in [ mm | size [ T [ mm | mm [ in |
—--————-
1310G10-08 % 159 10 46 181
—--————-
1310G10-16 % 159 50 2322
—--————-
1310G12-16 % 60 2362
—--————-
1310G16-20 1 254 16 1% 68 2677
—--————-

1310G20-24 1% 318 20 1% 63. 76 2.992

1310G32-32 2 50.8 32 85 3.346

G-57



th INTERPUMP

Hydraulic Connectors

1110 90° SAE Flange - Code 62

(SFS-90°) _ 7%

Part Number

1110G08-08 VA 12.7 08 Y 31.8 39 1.5635 39 1.535
1110G08-12 Y 12.7 08 Ya 41.3 48 1.889 39 1.535
1110G10-08 % 15.9 10 Y 31.8 42 1.653 45 1.771
1110G10-12 % 15.9 10 Ya 41.3 52  2.047 44 1.732
1110G10-16 % 15.9 10 1 47.6 56 2204 45 1.771
1110G12-12 Ya 19 12 Ya 41.3 55  2.165 56 2.204
1110G12-16 Ya 19 12 1 47.6 63 2480 56 2.204
1110G16-12 1 254 16 Ya 41.3 64 2519 68 2.677
1110G16-16 1 254 16 1 47.6 69 2716 70 2.755
1110G16-20 1 254 16 1% 54 74 2913 71 2.795
1110G20-20 1% 31.8 20 1% 54 83  3.267 97 3.818
1110G20-24 1% 31.8 20 1% 63.5 90  3.543 97 3.818
1110G24-24 1% 38.1 24 1% 63.5 99  3.897 102 4.015
1110G24-32 1% 38.1 24 2 79.4 108 4.251 103 4.055
1110G32-32 2 50.8 32 2 79.4 136 5.354 125 4.921

“
—]
=
<
Q)
(7 )
1
o)
<
m
=
m
0
m
w
A
>
o
T
O
T
O
wn
m
z
O
%)
A
<
i,




FITTINGS - ONE-PIECE [BRAIDED HOSE, NO-SKIVE]

1210
(SFS-45°)

G-59

45° SAE Flange - Code 62

" bop [ —curor |

SO Fange [t —

mmm—mmmmm

Cmews %o o % ae  omoom oo
1210G16-12 25.4 16 41.3 30 1.181 101 3.976

Cwootets 1 24 do 1 e w 1wme s s
1210G20-20 1% 31.8 20 1% 54 43 1.692 107 4.212



HOSE AND CONNECTORS CATALOG i'h INTERPUMP
Hydraulic Connectors

110S 90° Straight SuperCAT Flange
(SFC-90°)

mm

1108G12-12 Ya 19 41.3

“
—]
=
<
Q)
(7 )
1
o)
<
m
=
m
0
m
w
A
>
o
m
O
T
O
wn
m
z
O
%)
A
<
i,




FITTINGS - ONE-PIECE [BRAIDED HOSE, NO-SKIVE]

D050 Hose Junction

mmmm“
—--——-
D050G05 So 79 17 0669
—--——-
D050G08 % 127 18 0709
—--——-
D050G12 % 19 19 0748

GS00 Weldable Fitting w»« _

i

GS00G04-08 Va 6.4 0.314 6 0.236 14 0.551

G-61



HOSE AND CONNECTORS CATALOG i'h INTERPUMP
Hydraulic Connectors

[3AIS-ON '3SOH a3AIvyd] 3231d-aNO - SONILLIL



